fraction/bin

Ratio to ATLAS

=
N

[HEN
o

0.5

13000 GeV pp Jets
| T T I L L | T I I I T T | I L T T I T | 9
: kG
- Relative P, (ATLAS jet fragmentation) -z
- o=
L m ATLAS 7 2
— —&— Pythia 8.308 default — N
- Pythia 8.308 tune-1 19
— Pythia 8.308 tune-2c 15
B Pythia 8.308 tune-2m ko
I _ 1=
2
T BES)
L _| ™M
@
(40)
i '\ s
o
I 1™
—i
T 12
— %
| %
<
| )
N c
| N —5
B .\‘\\ %)
B B 419
B =
L B L &)
B S S S S i iruci cEECEE R N b
— -2
: /n‘/ — Rl St ‘\A'“T‘*“;";‘.MA\“\MM :
- - s T 8- —7 1
| —0.5
| " 1 1 1 1 | " 1 1 1 " 1 " | 1 " 1 " 1 " 1 " |
0 1 2 3
textrm{re "
P } (positive values only)

textrm{



	Contents
	Page 1


